ASOTIN CONSERVATION DIST

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Egg Tako		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	1,800	0
Integrated/Segregated:		Planted	1,600	4

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	01/2026	TUCANNON HATCHERY	1,800		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	575	400.0	1	JUVENILE	ASOTIN CO LAKES		
04/2026	04/2026	1,025	400.0	3	JUVENILE	GOLF COURSE PD (ASOT)		

BOWDISH JHS (SPOKANE

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Egg Taka		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	100	0
Integrated/Segregat	:ed:	Planted	75	1
national provid	Dele			

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	SPOKANE HATCHERY	100		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	75	100.0	1	JUVENILE	LIBERTY LK (SPOK) (57)		

COLVILLE HS(COLVILLE

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Start Date	End Date	Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Type Tagged
<u>Estimated</u>	Release	<u>Data</u>								
Received		12/2025	12/2025	SPOK	ANE HATCHERY		35,000		0	EGGS EYED
Shipped or R	Received	Start Date	End Date	Facility	/		Number	FPP	Total Pounds	Life Stage
Estimated	Transfer	Data								
Egg Take Go	al									
Estimated	Brood Da	ata						L		
Integrated/S	Segregated	:						Planted		
Brood Origin	n:	HATCHE	RY					Received	35,000	0
Stock:			IE HATCHERY					Shipping		
Species: Run:		Rainbov NA	v					Egg Take		
Brood Year:		2025 Deireh eu							Total #	Total Pounds

COLVILLE TRIBE

COLVILLE TRIBE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Kokanee	Fag Taka		
Run:	NA	Egg Take		
Stock:	LK WHATCOM STOCK	Shipping		
Brood Origin:	HATCHERY	Received	1,000,000	0
Integrated/Segregated:		Planted	1,000,000	0

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	01/2026	LK WHATCOM HATCHERY	1,000,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
01/2026	01/2026	1,000,000		0	EGGS EYED	SANPOIL R 52.9001		

Memo:

Friday, May 9, 2025

COLVILLE TRIBE

COLVILLE TRIBE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Sturgeon White	Fee Teles		Total Totaldo
Run:	ΝΑ	Egg Take		
Stock:	LK ROOSEVELT (53)	Shipping	10,000	0
Brood Origin:	WILD	Received		
Integrated/Segregated:	INTEGRATED	Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stag	e
Shipped	07/2025	07/2025	SHERM	AN CR HATCHE	RY	10,000		0	LARVA	
Estimated Release	e Data									
Start Date End Dat	te Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре	Tagged

Memo:

Friday, May 9, 2025

COTTONWOOD CR POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	WALLOWA R	Shipping		
Brood Origin:	HATCHERY	Received	226,000	37,667
Integrated/Segregated:	SEGREGATED	Planted	225,000	49,999

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	02/2026	LYONS FERRY HATCHERY	226,000	6.0	37,667	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	17,200	4.5	3,822	JUVENILE	GRAND RONDE R35.2192	AD	\checkmark
04/2026	04/2026	6,000	4.5	1,333	JUVENILE	GRAND RONDE R35.2192	AD+PT	\checkmark
04/2026	04/2026	201,800	4.5	44,844	JUVENILE	GRAND RONDE R35.2192	AD	

COTTONWOOD CR POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2026		Total #	Total Pounds
Species:	Steelhead	Egg Tako		
Run:	Summer	Egg Take	500,000	
Stock:	WALLOWA R	Shipping	450,000	0
Brood Origin:	HATCHERY	Received	226,000	37,667
Integrated/Segregated:	SEGREGATED	Planted	225,000	49,999

Estimated Brood Data

Egg Take Goal 500,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	03/2026	04/2026	LYONS FERRY HATCHERY	450,000		0	EGGS GREEN
Received	01/2027	02/2027	LYONS FERRY HATCHERY	226,000	6.0	37,667	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	17,200	4.5	3,822	JUVENILE	GRAND RONDE R35.2192	AD	\checkmark
04/2027	04/2027	6,000	4.5	1,333	JUVENILE	GRAND RONDE R35.2192	AD+PT	\checkmark
04/2027	04/2027	201,800	4.5	44,844	JUVENILE	GRAND RONDE R35.2192	AD	

CURL LK ACCLIMA. PD

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	TUCANNON R 35.0009	Shipping		
Brood Origin:	MIXED	Received	50,000	11,111
Integrated/Segregated:	INTEGRATED	Planted	50,000	11,111

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2026	04/2026	LYONS FERRY HATCHERY	50,000	4.5	11,111	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	42,500	4.5	9,444	JUVENILE	TUCANNON R 35.0009		
04/2026	04/2026	7,500	4.5	1,667	JUVENILE	TUCANNON R 35.0009	РТ	\checkmark

CURL LK ACCLIMA. PD

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2026		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	TUCANNON R 35.0009	Shipping		
Brood Origin:	MIXED	Received	50,000	11,111
Integrated/Segregated:	INTEGRATED	Planted	50,000	11,111

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2027	04/2027	LYONS FERRY HATCHERY	50,000	4.5	11,111	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	42,500	4.5	9,444	JUVENILE	TUCANNON R 35.0009		
04/2027	04/2027	7,500	4.5	1,667	JUVENILE	TUCANNON R 35.0009	PT	\checkmark

CURLEW LK NET PEN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year:	2024				Total #	Total Pound
Species:	Rainbow			Egg Take		
Run:	NA					
Stock:	SPOKANE HATCHERY			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregat	ted:			Planted	80,000	13,333
Estimated Brood	Data					I
Egg Take Goal						
Estimated Transf	fer Data					
Shipped or Received	Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2025	10/2025	80,000	6.0	13,333	JUVENILE	CURLEW LK (FERR)		

CURLEW LK NET PEN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	For Table		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	85,000	1,700
Integrated/Segregated:		Planted	80,000	13,333

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	05/2026	05/2026	SPOKANE HATCHERY	85,000	50.0	1,700	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2026	10/2026	80,000	6.0	13,333	JUVENILE	CURLEW LK (FERR)		

DAYTON ACCLIMA. POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	Fee Take		
Run:	Spring	Egg Take		
Stock:	WIND R 29.0023	Shipping		
Brood Origin:	HATCHERY	Received	251,000	17,929
Integrated/Segregated:	SEGREGATED	Planted	250,000	20,833

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2026	02/2026	LYONS FERRY HATCHERY	251,000	14.0	17,929	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2026	03/2026	85,000	12.0	7,083	JUVENILE	TOUCHET R 32.0097	AD	\checkmark
03/2026	03/2026	165,000	12.0	13,750	JUVENILE	TOUCHET R 32.0097	AD	

DAYTON ACCLIMA. POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	Egg Take		
Run: Stock:	Spring TOUCHET R 32.0097	Shipping		
Brood Origin:	MIXED	Received	255,000	21,250
Integrated/Segregated:	INTEGRATED	Planted		
Estimated Brood Data	<u>a</u>			1

Egg Take Goal

Estimated Transfer Data

Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage	
02/2026	02/2026	LYONS F	ERRY HATCHEF	RY	255,000	12.0	21,250	JUVENILI	E
Data									
	ease F	PP	Total Pounds	Life Stage	Release Site		Mark 1	уре -	Tagged
0	02/2026 Data	02/2026 02/2026	02/2026 02/2026 LYONS F	02/2026 02/2026 LYONS FERRY HATCHER	02/2026 02/2026 LYONS FERRY HATCHERY	D2/2026 02/2026 LYONS FERRY HATCHERY 255,000 Data <th< td=""><td>D2/2026 02/2026 LYONS FERRY HATCHERY 255,000 12.0 Data <th< td=""><td>D2/2026 02/2026 LYONS FERRY HATCHERY 255,000 12.0 21,250 Data <thdata< th=""> Data Data <t< td=""><td>02/2026 02/2026 LYONS FERRY HATCHERY 255,000 12.0 21,250 JUVENILI</td></t<></thdata<></td></th<></td></th<>	D2/2026 02/2026 LYONS FERRY HATCHERY 255,000 12.0 Data <th< td=""><td>D2/2026 02/2026 LYONS FERRY HATCHERY 255,000 12.0 21,250 Data <thdata< th=""> Data Data <t< td=""><td>02/2026 02/2026 LYONS FERRY HATCHERY 255,000 12.0 21,250 JUVENILI</td></t<></thdata<></td></th<>	D2/2026 02/2026 LYONS FERRY HATCHERY 255,000 12.0 21,250 Data <thdata< th=""> Data Data <t< td=""><td>02/2026 02/2026 LYONS FERRY HATCHERY 255,000 12.0 21,250 JUVENILI</td></t<></thdata<>	02/2026 02/2026 LYONS FERRY HATCHERY 255,000 12.0 21,250 JUVENILI

DAYTON ACCLIMA. POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Chinook	Fee Talua		
Run:	Spring	Egg Take		
Stock:	WIND R 29.0023	Shipping		
Brood Origin:	HATCHERY	Received	251,000	17,929
Integrated/Segregated:	SEGREGATED	Planted	250,000	20,833

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2027	02/2027	LYONS FERRY HATCHERY	251,000	14.0	17,929	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2027	03/2027	85,000	12.0	7,083	JUVENILE	TOUCHET R 32.0097	AD	\checkmark
03/2027	03/2027	165,000	12.0	13,750	JUVENILE	TOUCHET R 32.0097	AD	

DAYTON ACCLIMA. POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Chinook	Con Tales		
Run:	Spring	Egg Take		
Stock:	TOUCHET R 32.0097	Shipping		
Brood Origin:	MIXED	Received	255,000	17,000
Integrated/Segregated:	INTEGRATED	Planted	250,000	20,833

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2027	02/2027	LYONS FERRY HATCHERY	255,000	15.0	17,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2027	03/2027	165,000	12.0	13,750	JUVENILE	TOUCHET R 32.0097	AD	
03/2027	03/2027	85,000	12.0	7,083	JUVENILE	TOUCHET R 32.0097	AD	

DAYTON ACCLIMA. POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead		····	
Run:	Summer	Egg Take		
Stock:	TOUCHET R -ENDEMIC	Shipping		
Brood Origin:	MIXED	Received	50,000	11,111
Integrated/Segregated:	INTEGRATED	Planted	50,000	11,111

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2026	04/2026	LYONS FERRY HATCHERY	50,000	4.5	11,111	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	45,000	4.5	10,000	JUVENILE	TOUCHET R 32.0097		
04/2026	04/2026	5,000	4.5	1,111	JUVENILE	TOUCHET R 32.0097	PT	\checkmark

DAYTON ACCLIMA. POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	WALLOWA R	Shipping		
Brood Origin:	HATCHERY	Received	101,000	16,833
Integrated/Segregated:	SEGREGATED	Planted	100,000	22,222

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2026	03/2026	LYONS FERRY HATCHERY	101,000	6.0	16,833	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	7,400	4.5	1,644	JUVENILE	TOUCHET R 32.0097	AD	
04/2026	04/2026	3,000	4.5	667	JUVENILE	TOUCHET R 32.0097	AD+PT	\checkmark
04/2026	04/2026	89,600	4.5	19,911	JUVENILE	TOUCHET R 32.0097	AD	

DAYTON ACCLIMA. POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2026		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	TOUCHET R -ENDEMIC	Shipping		
Brood Origin:	MIXED	Received	50,000	11,111
Integrated/Segregated:	INTEGRATED	Planted	50,000	11,111

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2027	04/2027	LYONS FERRY HATCHERY	50,000	4.5	11,111	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	45,000	4.5	10,000	JUVENILE	TOUCHET R 32.0097		
04/2027	04/2027	5,000	4.5	1,111	JUVENILE	TOUCHET R 32.0097	PT	\checkmark

DAYTON ACCLIMA. POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2026		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	WALLOWA R	Shipping		
Brood Origin:	HATCHERY	Received	101,000	16,833
Integrated/Segregated:	SEGREGATED	Planted	100,000	22,222

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2027	03/2027	LYONS FERRY HATCHERY	101,000	6.0	16,833	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	7,400	4.5	1,644	JUVENILE	TOUCHET R 32.0097	AD	
04/2027	04/2027	3,000	4.5	667	JUVENILE	TOUCHET R 32.0097	AD+PT	\checkmark
04/2027	04/2027	89,600	4.5	19,911	JUVENILE	TOUCHET R 32.0097	AD	

DEER LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Eastern Brook Trout	Cas Tales		
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received	15,000	750
Integrated/Segregated:		Planted	14,500	2,900

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	10/2025	SPOKANE HATCHERY	15,000	20.0	750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	14,500	5.0	2,900	JUVENILE	DEER LK (STEV)		

Memo: Program implementation is dependent on legal authority and funding. Ken Santora Net Pen site.

DEER LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	Egg Take		
Run:	NA			
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	45,000	2,250
Integrated/Segregat	ed:	Planted	43,500	8,700

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	10/2025	SPOKANE HATCHERY	45,000	20.0	2,250	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	43,500	5.0	8,700	JUVENILE	DEER LK (STEV)		

DEER LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Eastern Brook Trout	Fee Talu		
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received	15,000	750
Integrated/Segregated:		Planted	14,500	2,900

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2026	10/2026	SPOKANE HATCHERY	15,000	20.0	750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	14,500	5.0	2,900	JUVENILE	DEER LK (STEV)		

Memo: Program implementation is dependent on legal authority and funding. Ken Santora Net Pen site.

DEER LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Egg Take		
Run:	NA			
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	45,000	2,250
Integrated/Segregat	ed:	Planted	43,500	8,700
Following David				

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2026	10/2026	SPOKANE HATCHERY	45,000	20.0	2,250	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	43,500	5.0	8,700	JUVENILE	DEER LK (STEV)		

DIAMOND LK NP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	15,000	750
Integrated/Segregated	d:	Planted	14,500	2,900
Estimated Brood D	Data			

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	10/2025	FORD HATCHERY	15,000	20.0	750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	14,500	5.0	2,900	JUVENILE	DIAMOND LK (PEND)		

DIAMOND LK NP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Species: Rainbow			
Burne NA			
Run: NA	Egg Take		
Stock: SPOKANE HATCHERY	Shipping		
Brood Origin: HATCHERY	Received	15,000	750
Integrated/Segregated:	Planted	14,500	2,900

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2026	10/2026	FORD HATCHERY	15,000	20.0	750	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	14,500	5.0	2,900	JUVENILE	DIAMOND LK (PEND)		

EAST VALLEY MS(SPOKA

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	250	0
Integrated/Segregated:		Planted	225	2

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	SPOKANE HATCHERY	250		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	225	100.0	2	JUVENILE	LIBERTY LK (SPOK) (57)		

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Estimated Brood			Tianceu	2,000	4,000
Brood Origin: Integrated/Segrega	HATCHERY ted:		Received Planted	2,000	4,000
Stock:	FORD STOCK		Shipping		
Species: Run:	Brown Trout NA		Egg Take		
Brood Year:	2022 Decum Trout			Total #	Total Pounds

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2025	12/2025	1,000	0.5	2,000	BROODSTOCK	SPOKANE CO LAKES		
10/2025	12/2025	1,000	0.5	2,000	BROODSTOCK	STEVENS CO LAKES		

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2023			Total #	Total Pounds
Species: Run:	Brown Trout NA		Egg Take		
Stock:	FORD STOCK		Shipping		
Brood Origin:	HATCHERY		Received		
Integrated/Segregat	ed:		Planted	2,000	4,000
Estimated Brood	Data	L		I	
Egg Take Goal					
Estimated Transf	er Data				
Shipped or Received	Start Date End Date Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2026	12/2026	1,000	0.5	2,000	BROODSTOCK	SPOKANE CO LAKES		
10/2026	12/2026	1,000	0.5	2,000	BROODSTOCK	STEVENS CO LAKES		

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: Species:	2023 Eastern Brook Trout				Total #	Total Pounds
Run:	NA			Egg Take		
Stock:	FORD STOCK			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregat	ted:			Planted	2,000	2,000
Estimated Brood	Data					U
Egg Take Goal						
Estimated Trans	fer Data					
Shipped or Received	d Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2025	12/2025	500	1.0	500	BROODSTOCK	PEND OREILLE CO LAKES		
10/2025	12/2025	1,500	1.0	1,500	BROODSTOCK	SPOKANE CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Goldendale and Chelan Transfers are Triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Brown Trout	Fee Take		
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received	2,100	420
Integrated/Segregate	d:	Planted	2,000	4,000

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2026	04/2026	SPOKANE HATCHERY	2,100	5.0	420	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2027	12/2027	1,000	0.5	2,000	BROODSTOCK	SPOKANE CO LAKES		
10/2027	12/2027	1,000	0.5	2,000	BROODSTOCK	STEVENS CO LAKES		

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year: Species:	2024 Eastern Brook Trout				Total #	Total Pounds
Run:	NA			Egg Take		
Stock:	FORD STOCK			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregat	ted:			Planted	2,000	2,000
Estimated Brood	l Data					
Egg Take Goal						
Estimated Trans	fer Data					
Shipped or Received	d Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2026	12/2026	500	1.0	500	BROODSTOCK	PEND OREILLE CO LAKES		
10/2026	12/2026	1,500	1.0	1,500	BROODSTOCK	SPOKANE CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. Goldendale and Chelan Transfers are Triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	Con Tales		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	45,000	2,250
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	432,800	64,200

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2025	10/2025	DIAMOND LK NP	15,000	20.0	750	JUVENILE
Shipped	10/2025	10/2025	SHERMAN CR HATCHERY	30,000	20.0	1,500	JUVENILE

Memo: Program implementation is dependent on legal authority and funding. All fish planted into Pend Oreille county lakes are triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	Fee Take		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	45,000	2,250
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	432,800	64,200

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2025	10/2025	200,000	20.0	10,000	JUVENILE	BANKS LK (GRAN)		
10/2025	10/2025	20,000	20.0	1,000	JUVENILE	PEND OREILLE CO LAKES		
03/2026	04/2026	42,000	4.0	10,500	JUVENILE	LINCOLN CO LAKES		
03/2026	04/2026	44,000	4.0	11,000	JUVENILE	PEND OREILLE CO LAKES		
03/2026	04/2026	48,000	4.0	12,000	JUVENILE	SPOKANE CO LAKES		
03/2026	04/2026	52,000	4.0	13,000	JUVENILE	STEVENS CO LAKES		
03/2026	04/2026	24,000	4.0	6,000	JUVENILE	WHITMAN CO LAKES		
04/2026	05/2026	2,800	4.0	700	JUVENILE	FERRY CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. All fish planted into Pend Oreille county lakes are triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Brown Trout	Faa Taka		
Run:	NA	Egg Take	725,000	
Stock:	FORD STOCK	Shipping	568,500	0
Brood Origin:	HATCHERY	Received	2,100	420
Integrated/Segregate	ed:	Planted	2,000	4,000

Estimated Brood Data

Egg Take Goal 725,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	11/2025	11/2025	MOSSYROCK HATCHERY	17,500		0	EGGS EYED
Shipped	12/2025	12/2025	CHELAN HATCHERY	50,000		0	EGGS EYED
Shipped	12/2025	12/2025	GOLDENDALE HATCHERY	12,000		0	EGGS EYED
Shipped	12/2025	12/2025	KENDALL CR HATCHERY	64,000		0	EGGS EYED
Shipped	12/2025	12/2025	SPOKANE HATCHERY	425,000		0	EGGS EYED
Received	04/2027	04/2027	SPOKANE HATCHERY	2,100	5.0	420	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2028	12/2028	1,000	0.5	2,000	BROODSTOCK	SPOKANE CO LAKES		
10/2028	12/2028	1,000	0.5	2,000	BROODSTOCK	STEVENS CO LAKES		

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Eastern Brook Trout	Egg Take	400,000	
Run:	NA			
Stock:	FORD STOCK	Shipping	210,500	0
Brood Origin:	HATCHERY	Received	2,100	28
Integrated/Segregated:		Planted	2,000	2,000

Estimated Brood Data

Egg Take Goal 400,000

Estimated Transfer Data

Shipped or F	Received	Start Date	End Date	Facilit	y		Number	FPP	Total Pounds	Life Sta	ige
Shipped		12/2025	12/2025	CHEL	AN HATCHERY		100,000		0	EGGS	EYED
Shipped		12/2025	12/2025	GOLI	DENDALE HATCH	ERY	25,000		0	EGGS	EYED
Shipped		12/2025	12/2025	SPOK	ANE HATCHERY	85,000		0	EGGS	EGGS EYED	
Shipped		12/2025	12/2025	WEST	VALLEY HS(SPO	500		0	EGGS	EGGS EYED	
Received	(06/2026	06/2026	SPOK	ANE HATCHERY		2,100	75.0	28	JUVEN	JILE
Estimated	Release I	<u>Data</u>									
Start Date	End Date	Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged
10/2027	12/2027		500	1.0	500	BROODSTOCK	PEND OREILLE CO	LAKES			
10/2027	12/2027	1	,500	1.0	1,500	BROODSTOCK	SPOKANE CO LAK	ES			

Memo: Program implementation is dependent on legal authority and funding. Goldendale and Chelan Transfers are Triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	245,200	5,583
Brood Origin:	HATCHERY	Received	1,550,000	0
Integrated/Segregated:		Planted	920,300	71,550

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	SPOKANE HATCHERY	1,550,000		0	EGGS EYED
Shipped	12/2025	12/2025	WILBUR SD 200(WILBUR	200		0	EGGS EYED
Shipped	06/2026	06/2026	SHERMAN CR HATCHERY	200,000	60.0	3,333	JUVENILE
Shipped	10/2026	10/2026	DIAMOND LK NP	15,000	20.0	750	JUVENILE
Shipped	10/2026	10/2026	SHERMAN CR HATCHERY	30,000	20.0	1,500	JUVENILE

Memo: Program implementation is dependent on legal authority and funding. All fish planted into Pend Oreille county lakes are triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	с т.		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	245,200	5,583
Brood Origin:	HATCHERY	Received	1,550,000	0
Integrated/Segregated:		Planted	920,300	71,550

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	45,000	100.0	450	JUVENILE	FERRY CO LAKES		
05/2026	05/2026	40,000	100.0	400	JUVENILE	PEND OREILLE CO LAKES		
05/2026	05/2026	185,000	100.0	1,850	JUVENILE	SPOKANE CO LAKES		
05/2026	05/2026	215,000	100.0	2,150	JUVENILE	STEVENS CO LAKES		
10/2026	10/2026	200,000	20.0	10,000	JUVENILE	BANKS LK (GRAN)	AD	
10/2026	10/2026	20,000	20.0	1,000	JUVENILE	PEND OREILLE CO LAKES		
10/2026	10/2026	1,250	1.0	1,250	JUVENILE	SPOKANE CO LAKES		
10/2026	10/2026	1,250	1.0	1,250	JUVENILE	STEVENS CO LAKES		
03/2027	04/2027	42,000	4.0	10,500	JUVENILE	LINCOLN CO LAKES		
03/2027	04/2027	44,000	4.0	11,000	JUVENILE	PEND OREILLE CO LAKES		
03/2027	04/2027	48,000	4.0	12,000	JUVENILE	SPOKANE CO LAKES		
03/2027	04/2027	52,000	4.0	13,000	JUVENILE	STEVENS CO LAKES		
03/2027	04/2027	24,000	4.0	6,000	JUVENILE	WHITMAN CO LAKES		
04/2027	05/2027	2,800	4.0	700	JUVENILE	FERRY CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. All fish planted into Pend Oreille county lakes are triploids.

FORD HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Tiger Trout	Fac Taka		
Run:	NA	Egg Take	1,000,000	
Stock:	FORD STOCK	Shipping	170,500	1,067
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	20,000	200

Estimated Brood Data

Egg Take Goal 1,000,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	11/2025	11/2025	GOLDENDALE HATCHERY	20,000		0	EGGS EYED
Shipped	11/2025	11/2025	WEST VALLEY HS(SPOKA	500		0	EGGS EYED
Shipped	12/2025	12/2025	CHELAN HATCHERY	50,000		0	EGGS EYED
Shipped	04/2026	04/2026	COLUMBIA BASIN HATCHERY	25,000	250.0	100	JUVENILE
Shipped	06/2026	06/2026	OMAK HATCHERY	10,000	100.0	100	JUVENILE
Shipped	06/2026	06/2026	SPOKANE HATCHERY	65,000	75.0	867	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026 05/2026	05/2026 05/2026	1,500 18,500	100.0 100.0	15 185	JUVENILE JUVENILE	PEND OREILLE CO LAKES STEVENS CO LAKES		

FORT COLVILLE ES

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	500	0
Integrated/Segregated:		Planted	475	2

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	SPOKANE HATCHERY	500		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	475	250.0	2	JUVENILE	HATCH LK (STEV)		

FREEMAN ES (ROCKFORD

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Chinook	Egg Take		
Run:	Summer			
Stock:	ENTIAT R 46.0042	Shipping		
Brood Origin:	UNKNOWN	Received	200	0
Integrated/Segregated:	INTEGRATED	Planted	200	2

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2025	11/2025	IDAHO- 'nik'win REARING FACILITY	200		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	200	100.0	2	JUVENILE	CALIFORNIA CR 1.0045		

LEONARD M JENNINGS E

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

		Total Pounds
Egg Take		
Shipping		
Received	250	0
Planted	250	1

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	01/2026	TUCANNON HATCHERY	250		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	250	400.0	1	JUVENILE	ROCK LK (WHIT)		

LIBERTY LAUNCH ACADEMY (SPOK)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year: 2025			Total #	Total Pounds
Species: Rainbow		Faa Talia		
Run: NA		Egg Take		
Stock: SPOKANE	HATCHERY	Shipping		
Brood Origin: HATCHER	(Received	250	0
Integrated/Segregated:		Planted	250	1

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	SPOKANE HATCHERY	250		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	250	250.0	1	JUVENILE	LIBERTY LK (SPOK) (57)		

LINCOLN MS(PULLMAN)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fag Take		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	250	0
Integrated/Segregate	ed:	Planted	250	3

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	SPOKANE HATCHERY	250		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	250	100.0	3	JUVENILE	GILCREST PD (WHIT)		

LK ROOSEVELT NP (COL

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	I		
Run:	NA	Egg Take		
Stock:	TROUT LODGE	Shipping		
Brood Origin:	HATCHERY	Received	510,000	34,000
Integrated/Segregated	1:	Planted	500,000	83,333

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	10/2025	SHERMAN CR HATCHERY	60,000	15.0	4,000	JUVENILE
Received	10/2025	10/2025	SPOKANE TRIBAL HATCHERY	450,000	15.0	30,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	500,000	6.0	83,333	JUVENILE	ROOSEVELT LK (OKAN)	AD	

LK ROOSEVELT NP (COL

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year:	2025			Total #	Total Pounds
Species:	Rainbow	E	aa Tako		
Run:	NA	E,	gg Take		
Stock:	TROUT LODGE	S	Shipping		
Brood Origin:	HATCHERY	R	Received	510,000	34,000
Integrated/Segregated:		Ρ	Planted	500,000	83,333

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2026	10/2026	SHERMAN CR HATCHERY	60,000	15.0	4,000	JUVENILE
Received	10/2026	10/2026	SPOKANE TRIBAL HATCHERY	450,000	15.0	30,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2027	05/2027	500,000	6.0	83,333	JUVENILE	ROOSEVELT LK (OKAN)	AD	

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	Faa Tako		
Run:	Spring	Egg Take		
Stock:	WIND R 29.0023	Shipping	255,000	21,250
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted		
Estimated Brood Data				

Egg Take Goal

Estimated Transfer Data

Shipped or Re	eceived S	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage	
Shipped	(02/2026	02/2026	DAYTON	ACCLIMA. PON	D	255,000	12.0	21,250	JUVENIL	E
Estimated	Release D	Data									
	End Date	Num Rel	ease l	FPP	Total Pounds	Life Stage	Release Site		Mark 1	уре	Tagged

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook			
Run:	Spring	Egg Take		
Stock:	TOUCHET R 32.0097	Shipping	255,000	17,000
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted		

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Sta	ge
Shipped	02/2026	02/2026	DAYTO	N ACCLIMA. PON	ID	255,000	15.0	17,000	JUVEN	ILE
Estimated Release	<u>Data</u>									
Start Date End Dat	e Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark ⁻	Гуре	Tagged

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook			
Run:	Spring	Egg Take		
Stock:	TUCANNON R 35.0009	Shipping	226,000	15,067
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted		
Estimated Brood Data				

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage	
Shipped	10/2025	11/2025	TUCAN	NON HATCHERY		226,000	15.0	15,067	JUVENIL	Æ
Estimated Release	Data									
Start Date End Date		lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре	Tagged

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	- - 1		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	21,250	9,517
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	110,450	46,280

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	09/2025	10/2025	IDAHO -FISH & GAME	17,600	3.0	5,867	JUVENILE
Shipped	03/2026	05/2026	NEZ PERCE TRIBAL FAC	3,650	1.0	3,650	JUVENILE

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	I		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	21,250	9,517
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	110,450	46,280

Estimated Release Data

	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2025	10/2025	3,000	3.0	1,000	JUVENILE	COLUMBIA CO LAKES		
10/2025	10/2025	2,500	3.0	833	JUVENILE	WALLA WALLA CO LAKES		
10/2025	10/2025	27,000	3.0	9,000	JUVENILE	WHITMAN CO LAKES		
02/2026	03/2026	15,000	2.5	6,000	JUVENILE	ASOTIN CO LAKES		
02/2026	03/2026	500	0.7	714	JUVENILE	ASOTIN CO LAKES		
02/2026	03/2026	1,500	0.7	2,239	JUVENILE	COLUMBIA CO LAKES		
02/2026	03/2026	24,500	2.5	9,800	JUVENILE	COLUMBIA CO LAKES		
02/2026	03/2026	250	0.7	357	JUVENILE	FRANKLIN CO LAKES		
02/2026	03/2026	11,500	2.5	4,600	JUVENILE	FRANKLIN CO LAKES		
02/2026	03/2026	1,450	0.7	2,164	JUVENILE	WALLA WALLA CO LAKES		
02/2026	03/2026	18,000	2.5	7,200	JUVENILE	WALLA WALLA CO LAKES		
02/2026	03/2026	5,000	2.5	2,000	JUVENILE	WHITMAN CO LAKES		
02/2026	03/2026	250	0.7	373	JUVENILE	WHITMAN CO LAKES		

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Chinook	Egg Tako	6,000,000	
Run:	Fall	Egg Take		
Stock:	SNAKE R-LOWR 33.0002	Shipping	4,156,000	28,080
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	1,200,000	24,000

Estimated Brood Data

Egg Take Goal 6,000,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	11/2025	11/2025	OREGON- IRRIGON HATCHERY	700,000		0	EGGS GREEN
Shipped	12/2025	12/2025	OREGON- IRRIGON HATCHERY	1,350,000		0	EGGS EYED
Shipped	04/2026	05/2026	NEZ PERCE TRIBAL FAC	401,000	75.0	5,347	JUVENILE
Shipped	04/2026	05/2026	NEZ PERCE TRIBAL FAC	451,000	75.0	6,013	JUVENILE
Shipped	04/2026	05/2026	NEZ PERCE TRIBAL FAC	451,000	75.0	6,013	JUVENILE
Shipped	05/2026	05/2026	NEZ PERCE TRIBAL FAC	201,000	75.0	2,680	JUVENILE
Shipped	05/2026	05/2026	NEZ PERCE TRIBAL FAC	201,000	75.0	2,680	JUVENILE
Shipped	05/2026	05/2026	NEZ PERCE TRIBAL FAC	401,000	75.0	5,347	JUVENILE

Memo: Program implementation is dependent on legal authority and funding. PIT tagged release rates will be determined annually.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Chinook	Fee Taba		
Run:	Fall	Egg Take	6,000,000	
Stock:	SNAKE R-LOWR 33.0002	Shipping	4,156,000	28,080
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	1,200,000	24,000

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	500,000	50.0	10,000	JUVENILE	LYONS FERRY REL.SITE	AD	\checkmark
05/2026	06/2026	700,000	50.0	14,000	JUVENILE	LYONS FERRY REL.SITE	AD	

Memo: Program implementation is dependent on legal authority and funding. PIT tagged release rates will be determined annually.

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Chinook			
Run:	Spring	Egg Take		
Stock:	WIND R 29.0023	Shipping	255,200	20,917
Brood Origin:	HATCHERY	Received	270,000	0
Integrated/Segregated:	SEGREGATED	Planted		

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility		Number	FPP	Total Pounds	Life Stage
Received	10/2025	10/2025	CARSON NFH		270,000		0	EGGS GREEN
Shipped	10/2025	10/2025	TRI STATE STEELHEAD	DER	4,200		0	EGGS EYED
Shipped	01/2027	02/2027	DAYTON ACCLIMA. PO	ND	251,000	12.0	20,917	JUVENILE
Estimated Release Data								
Start Date End Dat	te Num Re	lease	FPP Total Pounds	Life Stage	Release Site		Mark	Type Tagged

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025 Chinaal							Total #	Total Pounds
Species:	Chinool	< compared with the second sec					Egg Take	300,000	
Run:	Spring						Shipping	255,000	17,000
Stock:	TOUCH	ET R 32.0097						200,000	1,000
Brood Origin:	MIXED						Received		
Integrated/Segregate	d: INTEGR	ATED					Planted		
Estimated Brood I Egg Take Goal	<mark>Data</mark> 300,000								
Estimated Transfe	r Data								
Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage
Shipped	01/2027	02/2027	DAYTC	ON ACCLIMA. PO	OND	255,000	15.0	17,000	JUVENILE
Estimated Release	<u>e Data</u>								

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Chinook	Egg Tako		
Run:	Spring	Egg Take	310,000	
Stock:	TUCANNON R 35.0009	Shipping	277,000	17,617
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted		

Estimated Brood Data

Egg Take Goal 310,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	,		Number	FPP	Total Pounds	Life Stage
Shipped	10/2026	10/2026	KALA	MA FALLS HATC	HERY	51,000	20.0	2,550	JUVENILE
Shipped	10/2026	11/2026	TUCA	NNON HATCHERY	Y	226,000	15.0	15,067	JUVENILE
Estimated Release		lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Type Tagged

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Con Tales		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	21,250	9,517
Brood Origin:	HATCHERY	Received	195,000	0
Integrated/Segregated:	SEGREGATED	Planted	110,450	46,203

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	SPOKANE HATCHERY	195,000		0	EGGS EYED
Shipped	09/2026	10/2026	IDAHO -FISH & GAME	17,600	3.0	5,867	JUVENILE
Shipped	03/2027	05/2027	NEZ PERCE TRIBAL FAC	3,650	1.0	3,650	JUVENILE

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	с т.		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	21,250	9,517
Brood Origin:	HATCHERY	Received	195,000	0
Integrated/Segregated:	SEGREGATED	Planted	110,450	46,203

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2026	10/2026	3,000	3.0	1,000	JUVENILE	COLUMBIA CO LAKES		
10/2026	10/2026	2,500	3.0	833	JUVENILE	WALLA WALLA CO LAKES		
10/2026	10/2026	27,000	3.0	9,000	JUVENILE	WHITMAN CO LAKES		
02/2027	03/2027	15,000	2.5	6,000	JUVENILE	ASOTIN CO LAKES		
02/2027	03/2027	500	0.7	714	JUVENILE	ASOTIN CO LAKES		
02/2027	03/2027	1,500	0.7	2,239	JUVENILE	COLUMBIA CO LAKES		
02/2027	03/2027	24,500	2.5	9,800	JUVENILE	COLUMBIA CO LAKES		
02/2027	03/2027	250	0.7	373	JUVENILE	FRANKLIN CO LAKES		
02/2027	03/2027	11,500	2.5	4,600	JUVENILE	FRANKLIN CO LAKES		
02/2027	03/2027	1,450	0.7	2,071	JUVENILE	WALLA WALLA CO LAKES		
02/2027	03/2027	18,000	2.5	7,200	JUVENILE	WALLA WALLA CO LAKES		
02/2027	03/2027	5,000	2.5	2,000	JUVENILE	WHITMAN CO LAKES		
02/2027	03/2027	250	0.7	373	JUVENILE	WHITMAN CO LAKES		

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	TOUCHET R -ENDEMIC	Shipping	50,000	11,111
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted		
Estimated Brood Data	<u>a</u>			

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	d Start Date	End Date	Facility	y		Number	FPP	Total Pounds	Life Sta	ge
Shipped	04/2026	04/2026	DAYT	TON ACCLIMA. PO	ND	50,000	4.5	11,111	JUVEN	ILE
Estimated Relea	se Data									
Start Date End D	ate Num R	elease	FPP	Total Pounds	Life Stage	Release Site		Mark	Гуре	Tagged

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead	Egg Tako	185,000	
Run:	Summer	Egg Take	185,000	
Stock:	TUCANNON R 35.0009	Shipping	50,000	11,111
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	100,000	22,223

Estimated Brood Data

Egg Take Goal 185,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	04/2026	04/2026	CURL LK ACCLIMA. PD	50,000	4.5	11,111	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2026	04/2026	7,500	4.5	1,667	JUVENILE	TUCANNON R 35.0009	AD+PT	
03/2026	04/2026	17,500	4.5	3,889	JUVENILE	TUCANNON R 35.0009	AD	\checkmark
03/2026	04/2026	75,000	4.5	16,667	JUVENILE	TUCANNON R 35.0009	AD	

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	WALLOWA R	Shipping	327,000	54,500
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted	60,000	13,334

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2026	02/2026	COTTONWOOD CR POND	226,000	6.0	37,667	JUVENILE
Shipped	03/2026	03/2026	DAYTON ACCLIMA. POND	101,000	6.0	16,833	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2026	03/2026	3,000	4.5	667	JUVENILE	LYONS FERRY REL.SITE	AD+PT	\checkmark
03/2026	03/2026	53,600	4.5	11,911	JUVENILE	LYONS FERRY REL.SITE	AD	
03/2026	03/2026	3,400	4.5	756	JUVENILE	LYONS FERRY REL.SITE	AD	\checkmark

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2026							Total #	Total Pounds
Species:	Steelhe	ad					с т.		
Run:	Summe	r					Egg Take	60,000	
Stock:	TOUCH	ET R -ENDEMIC					Shipping	50,000	11,111
Brood Origin: MIXED							Received		
Integrated/Segregate	d: INTEGR	ATED					Planted		
Estimated Brood I	<u>Data</u>								
Egg Take Goal	60,000								
Estimated Transfe	r Data								
Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage
Shipped	04/2027	04/2027	DAYT	ON ACCLIMA. PO	ND	50,000	4.5	11,111	JUVENILE
Estimated Release	<u>e Data</u>								
Start Date End Dat	e Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Type Tagged

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2026		Total #	Total Pounds
Species:	Steelhead	Fag Taka		
Run:	Summer	Egg Take	185,000	
Stock:	TUCANNON R 35.0009	Shipping	50,000	11,111
Brood Origin:	MIXED	Received		
Integrated/Segregated:	INTEGRATED	Planted	100,000	22,223

Estimated Brood Data

Egg Take Goal 185,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	04/2027	04/2027	CURL LK ACCLIMA. PD	50,000	4.5	11,111	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2027	04/2027	7,500	4.5	1,667	JUVENILE	TUCANNON R 35.0009	AD+PT	
03/2027	04/2027	17,500	4.5	3,889	JUVENILE	TUCANNON R 35.0009	AD	\checkmark
03/2027	04/2027	75,000	4.5	16,667	JUVENILE	TUCANNON R 35.0009	AD	

LYONS FERRY HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2026		Total #	Total Pounds
Species:	Steelhead			
Run:	Summer	Egg Take		
Stock:	WALLOWA R	Shipping	327,000	54,500
Brood Origin:	HATCHERY	Received	450,000	0
Integrated/Segregated:	SEGREGATED	Planted	60,000	13,334

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or	Received	Start Date	End Date	Facilit	У		Number	FPP	Total Pounds	Life Sta	ige
Received		03/2026	04/2026	COTT	TONWOOD CR PON	ND	450,000		0	EGGS	GREEN
Shipped		01/2027	02/2027	COTT	CONWOOD CR PON	ND	226,000	6.0	37,667	JUVE	NILE
Shipped		03/2027	03/2027	DAY	TON ACCLIMA. PC	OND	101,000	6.0	16,833	JUVE	NILE
Estimated	Release	<u>Data</u>									
Start Date	End Date	Num Re	elease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged
03/2027	03/2027		3,000	4.5	667	JUVENILE	LYONS FERRY REL	.SITE	AD+	PT	
03/2027	03/2027	53	3,600	4.5	11,911	JUVENILE	LYONS FERRY REL	.SITE	AD		
03/2027	03/2027		3,400	4.5	756	JUVENILE	LYONS FERRY REL	.SITE	AD		\checkmark

ORCHARD CENTER ES(SP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	150	0
Integrated/Segregated:		Planted	125	1

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	SPOKANE HATCHERY	150		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	125	250.0	1	JUVENILE	LIBERTY LK (SPOK) (57)		

ORIENT SD 065(ORIENT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fee Take		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	250	0
Integrated/Segregat	ed:	Planted	225	2
For the stand Broad				

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	SPOKANE HATCHERY	250		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	225	100.0	2	JUVENILE	PIERRE LK (STEV)		

Memo: Program implementation is dependent on legal authority and funding. Every three years.

RFEG 12 EASTERN WASH.

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Coho	Egg Tako		
Run:	NA	Egg Take		
Stock:	YAKIMA R REINTRODUCED	Shipping		
Brood Origin:	MIXED	Received	2,400	0
Integrated/Segregated:	INTEGRATED	Planted	2,400	5

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	MELVIN R SAMPSON COHO FACILITY	2,400		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
12/2025	12/2025	800	500.0	2	JUVENILE	YAKIMA R-UPR 39.0002		
05/2026	05/2026	1,600	500.0	3	JUVENILE	REECER CR 39.0968		

ROCK LAKE CONSERVATION DISTRICT

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	1,250	0
Integrated/Segregated:		Planted	1,250	5

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	SPOKANE HATCHERY	1,250		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	500	250.0	2	JUVENILE	GARFIELD PD (WHIT)		
04/2026	04/2026	500	250.0	2	JUVENILE	PALOUSE R 34.0003		
04/2026	04/2026	250	250.0	1	JUVENILE	ROCK LK (WHIT)		

SHERMAN CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Run:NAEgg TakeEgg TakeStock:TROUT LODGEShippingShippingBrood Origin:HATCHERYReceivedPlantedIntegrated/Segregated:Planted95,00015,833	Brood Year:	2024 Rainbow			Total #	Total Pound
Stock:TROUT LODGEShippingShippingBrood Origin:HATCHERYReceivedReceivedIntegrated/Segregated:Planted95,00015,833	Species: Run:		Eg	gg Take		
Integrated/Segregated: Planted 95,000 15,833		TROUT LODGE	Sh	nipping		
	Brood Origin:	HATCHERY	Re	eceived		
	Integrated/Segregat	ed:	Pla	anted	95,000	15,833
Estimated Brood Data Egg Take Goal		Data				
	Estimated Transf					

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	06/2026	95,000	6.0	15,833	JUVENILE	ROOSEVELT LK (OKAN)		

SHERMAN CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	60,000	4,000
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	225,000	37,500

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2025	10/2025	LK ROOSEVELT NP (COL	60,000	15.0	4,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	06/2026	225,000	6.0	37,500	JUVENILE	ROOSEVELT LK (OKAN)	AD	

Memo: Program implementation is dependent on legal authority and funding. Triploids. May backfill with Trout Lodge stock.

SHERMAN CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fee Tales		
Run:	NA	Egg Take		
Stock:	TROUT LODGE	Shipping		
Brood Origin:	HATCHERY	Received	100,000	1,667
Integrated/Segregated	l:	Planted	95,000	15,833

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2026	06/2026	SPOKANE TRIBAL HATCHERY	100,000	60.0	1,667	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2027	06/2027	95,000	6.0	15,833	JUVENILE	ROOSEVELT LK (OKAN)	AD	

SHERMAN CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fee Tales		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	60,000	4,000
Brood Origin:	HATCHERY	Received	230,000	4,833
Integrated/Segregated:		Planted	125,000	20,833

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or	Received	Start Date	End Date	Facility	/		Number	FPP	Total Pounds	Life St	age
Received		06/2026	06/2026	FORD	HATCHERY		200,000	60.0	3,333	JUVEI	NILE
Received		10/2026	10/2026	FORD	HATCHERY		30,000	20.0	1,500	JUVEI	NILE
Shipped		10/2026	10/2026	LK RO	LK ROOSEVELT NP (COL		60,000	15.0	4,000	JUVEI	NILE
Estimated Release Data											
Start Date	End Date	e Num Re	elease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged
05/2027	06/2027	12	5,000	6.0	20,833	JUVENILE	ROOSEVELT LK (C	KAN)	AD		

Memo: Program implementation is dependent on legal authority and funding. Triploids. May backfill with Trout Lodge stock.

SHERMAN CR HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Sturgeon White	Egg Take		
Run:	NA	Egg Take		
Stock:	LK ROOSEVELT (53)	Shipping		
Brood Origin:	WILD	Received	10,000	0
Integrated/Segregated:		Planted	4,000	8,000
Estimated Brood	Data			I

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	07/2025	07/2025	COLVILLE TRIBE	10,000		0	LARVA

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2026	03/2026	4,000	0.5	8,000	JUVENILE	LK ROOSEVELT (53)	РТ	

Memo: Program implementation is dependent on legal authority and funding. Larva received from Colville Tribe out of Lk Roosevelt. Fish are scute tagged before release.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2022				Total #	Total Pound
Species:	Rainbow			Egg Take		
Run:	NA					
Stock:	SPOKANE HATCHERY			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregat	ted:			Planted	6,000	20,001
Estimated Brood	Data				I	
Egg Take Goal						
Estimated Transf	fer Data					
Shipped or Received	d Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2026	03/2026	1,500	0.3	5,000	BROODSTOCK	LINCOLN CO LAKES		
03/2026	03/2026	500	0.3	1,667	BROODSTOCK	PEND OREILLE CO LAKES		
03/2026	03/2026	2,000	0.3	6,667	BROODSTOCK	SPOKANE CO LAKES		
03/2026	03/2026	2,000	0.3	6,667	BROODSTOCK	STEVENS CO LAKES		

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2023 Rainbow				Total #	Total Pounds
Species: Run:	NA			Egg Take		
Stock:	SPOKANE HATCHERY			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregat	ted:			Planted	6,000	20,001
Estimated Brood	Data				I	
Egg Take Goal						
Estimated Transf	fer Data					
Shipped or Received	Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
03/2027	03/2027	1,500	0.3	5,000	BROODSTOCK	LINCOLN CO LAKES		
03/2027	03/2027	500	0.3	1,667	BROODSTOCK	PEND OREILLE CO LAKES		
03/2027	03/2027	2,000	0.3	6,667	BROODSTOCK	SPOKANE CO LAKES		
03/2027	03/2027	2,000	0.3	6,667	BROODSTOCK	STEVENS CO LAKES		

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Brown Trout	Coo Tolyo		
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping	26,600	1,645
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	291,000	24,150

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2025	10/2025	WAITTS LK NET PENS	24,500	20.0	1,225	JUVENILE
Shipped	04/2026	04/2026	FORD HATCHERY	2,100	5.0	420	JUVENILE

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Brown Trout	Fee Take		
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping	26,600	1,645
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	291,000	24,150

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2025	10/2025	186,000	20.0	9,300	JUVENILE	SPOKANE CO LAKES		
10/2025	10/2025	6,000	20.0	300	JUVENILE	STEVENS CO LAKES		
10/2025	10/2025	35,000	20.0	1,750	JUVENILE	WHITMAN CO LAKES		
03/2026	04/2026	1,000	5.0	200	JUVENILE	LINCOLN CO LAKES		
03/2026	04/2026	14,000	5.0	2,800	JUVENILE	PEND OREILLE CO LAKES		
03/2026	04/2026	24,000	5.0	4,800	JUVENILE	SPOKANE CO LAKES		
03/2026	04/2026	10,000	5.0	2,000	JUVENILE	STEVENS CO LAKES		
03/2026	04/2026	15,000	5.0	3,000	JUVENILE	WHITMAN CO LAKES		

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Eastern Brook Trout	Egg Take		
Run:		Shipping	15,000	750
Stock:	FORD STOCK		13,000	750
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:	SEGREGATED	Planted		
Estimated Brood Data	<u>a</u>			
Egg Take Goal				

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility			Number	FPP	Total Pounds	Life Stage	
Shipped	10/2025	10/2025	DEER LI	K NET PENS		15,000	20.0	750	JUVENIL	E
Estimated Release	e Data									
Start Date End Dat	e Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark 1	Гуре	Tagged

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Estimated Transfer Da Shipped or Received Sta	i <u>ta</u> rt Date End Date Facility	Number	FPP	Total Pounds	Life Stage
Egg Take Goal					
Estimated Brood Data					
Integrated/Segregated:	SEGREGATED	F	Planted		
Brood Origin:	HATCHERY	F	Received		
Stock:	IDAHO- GENERAL STOCK	S	Shipping	2,000	167
Run:	NA	E	Egg Take		
Species:	Eastern Brook Trout			Total #	Total Pounds
Brood Year:	2024				

Shipped of Rece	iveu Start Date		Facilit	. y		Number	FFF	Total Founds	Life Sta	ige
Shipped	08/2025	08/2025	CARS	SON NFH		2,000	12.0	167	JUVEN	IILE
Estimated Re	lease Data									
Start Date En	d Date Num F	lelease	FPP	Total Pounds	Life Stage	Release Site		Mark 1	Гуре	Tagged

Memo: Program implementation is dependent on legal authority and funding. YY Eastern Brook Trout.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow	Fee Take		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	75,000	3,750
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	290,000	64,801

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2025	10/2025	DEER LK NET PENS	45,000	20.0	2,250	JUVENILE
Shipped	10/2025	10/2025	WAITTS LK NET PENS	30,000	20.0	1,500	JUVENILE

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Tak	2	
Stock:	SPOKANE HATCHERY	Shippin	g 75,000	3,750
Brood Origin:	HATCHERY	Receive	d	
Integrated/Segregated:		Planted	290,000	64,801

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2025	10/2025	10,000	10.0	1,000	JUVENILE	PEND OREILLE CO LAKES		
10/2025	10/2025	59,000	10.0	5,900	JUVENILE	SPOKANE CO LAKES		
10/2025	10/2025	20,000	20.0	1,000	JUVENILE	WHITMAN CO LAKES		
10/2025	10/2025	20,000	10.0	2,000	JUVENILE	WHITMAN CO LAKES		
10/2025	11/2025	66,000	20.0	3,300	JUVENILE	FERRY CO LAKES		
10/2025	11/2025	40,000	10.0	4,000	JUVENILE	FERRY CO LAKES		
03/2026	04/2026	52,000	2.5	20,800	JUVENILE	SPOKANE CO LAKES		
03/2026	04/2026	17,000	2.5	6,800	JUVENILE	STEVENS CO LAKES		
03/2028	03/2028	1,500	0.3	5,000	BROODSTOCK	LINCOLN CO LAKES		
03/2028	03/2028	500	0.3	1,667	BROODSTOCK	PEND OREILLE CO LAKES		
03/2028	03/2028	2,000	0.3	6,667	BROODSTOCK	SPOKANE CO LAKES		
03/2028	03/2028	2,000	0.3	6,667	BROODSTOCK	STEVENS CO LAKES		

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024				Total #	Total Pounds
Species:	Tiger Trout			Egg Take		
Run: Stock:	NA FORD STOCK			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregat	ted:			Planted	56,000	2,800
Estimated Brood	Data					
Egg Take Goal						
Estimated Transf	fer Data					
Shipped or Received	Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2025	10/2025	6,000	20.0	300	JUVENILE	PEND OREILLE CO LAKES		
10/2025	10/2025	40,000	20.0	2,000	JUVENILE	SPOKANE CO LAKES		
10/2025	10/2025	10,000	20.0	500	JUVENILE	STEVENS CO LAKES		

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Brown Trout	Fee Taba		
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping	51,600	1,895
Brood Origin:	HATCHERY	Received	425,000	0
Integrated/Segregated:		Planted	290,000	24,100

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	FORD HATCHERY	425,000		0	EGGS EYED
Shipped	05/2026	05/2026	COLUMBIA BASIN HATCHERY	25,000	100.0	250	JUVENILE
Shipped	10/2026	10/2026	WAITTS LK NET PENS	24,500	20.0	1,225	JUVENILE
Shipped	04/2027	04/2027	FORD HATCHERY	2,100	5.0	420	JUVENILE

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Brown Trout	I		
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping	51,600	1,895
Brood Origin:	HATCHERY	Received	425,000	0
Integrated/Segregated:		Planted	290,000	24,100

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2026	10/2026	186,000	20.0	9,300	JUVENILE	SPOKANE CO LAKES		
10/2026	10/2026	5,000	20.0	250	JUVENILE	STEVENS CO LAKES		
10/2026	10/2026	35,000	20.0	1,750	JUVENILE	WHITMAN CO LAKES		
03/2027	04/2027	1,000	5.0	200	JUVENILE	LINCOLN CO LAKES		
03/2027	04/2027	14,000	5.0	2,800	JUVENILE	PEND OREILLE CO LAKES		
03/2027	04/2027	24,000	5.0	4,800	JUVENILE	SPOKANE CO LAKES		
03/2027	04/2027	10,000	5.0	2,000	JUVENILE	STEVENS CO LAKES		
03/2027	04/2027	15,000	5.0	3,000	JUVENILE	WHITMAN CO LAKES		

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025 Cutthere at				Total #	Total Pounds
Species: Run:	Cutthroat Westslope			Egg Take	300,000	
Stock:	KING LK (PEND)			Shipping		
Brood Origin:	WILD			Received		
Integrated/Segregate	d:			Planted	197,000	5,250
Estimated Brood I	<u>Data</u>					I
Egg Take Goal	300,000					
Estimated Transfe	er Data					
Shipped or Received	Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2025	10/2025	15,000	250.0	60	JUVENILE	FERRY CO LAKES		
10/2025	10/2025	70,000	250.0	280	JUVENILE	PEND OREILLE CO LAKES		
10/2025	10/2025	15,000	250.0	60	JUVENILE	STEVENS CO LAKES		
05/2026	06/2026	62,000	20.0	3,100	JUVENILE	SPOKANE CO LAKES		
05/2026	06/2026	35,000	20.0	1,750	JUVENILE	STEVENS CO LAKES		

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Eastern Brook Trout	I		
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping	17,100	778
Brood Origin:	HATCHERY	Received	85,000	0
Integrated/Segregated:	SEGREGATED	Planted	42,000	420

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or	Received	Start Date	End Date	Facilit	У		Number	FPP	Total Pounds	Life St	age
Received		12/2025	12/2025	FORE) HATCHERY		85,000		0	EGGS	EYED
Shipped		06/2026	06/2026	FORE) HATCHERY		2,100	75.0	28	JUVEI	NILE
Shipped		10/2026	10/2026	DEEF	R LK NET PENS		15,000	20.0	750	JUVE	NILE
Estimated	Release	<u>Data</u>									
Start Date	End Date	Num Re	lease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged
05/2026	05/2026	20	,000	100.0	200	JUVENILE	SPOKANE CO LAKE	ES			
06/2026	06/2026	3	5,500	100.0	35	JUVENILE	FERRY CO LAKES				
06/2026	06/2026	12	2,000	100.0	120	JUVENILE	PEND OREILLE CO	LAKES			
06/2026	06/2026	6	5,500	100.0	65	JUVENILE	STEVENS CO LAKE	S			

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Eastern Brook Trout	Coo Toles	. otar n	
Run:	NA	Egg Take		
Stock:	IDAHO- GENERAL STOCK	Shipping	14,000	130
Brood Origin:	HATCHERY	Received	100,000	0
Integrated/Segregated:	SEGREGATED	Planted	16,000	941

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or I	Received	Start Date	End Date	Facilit	y		Number	FPP	Total Pounds	Life Sta	age
Received		11/2025	11/2025	IDAH	O -FISH & GAME		100,000		0	EGGS	EYED
Shipped		02/2026	02/2026	USK I	FISH HATCHERY		12,000	1,000.0	12	JUVE	NILE
Shipped		08/2026	08/2026	CARS	ON NFH		2,000	17.0	118	JUVE	NILE
Estimated	Release	<u>Data</u>									
Start Date	End Date	e Num Re	elease	FPP	Total Pounds	Life Stage	Release Site		Mark	Туре	Tagged
08/2026	08/2026	1	6,000	17.0	941	JUVENILE	MILL CR (PEND)		AD		

Memo: Program implementation is dependent on legal authority and funding. YY Eastern Brook Trout.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Kokanee	Fac Take		
Run:	NA	Egg Take		
Stock:	LK WHATCOM STOCK	Shipping	250	0
Brood Origin:	HATCHERY	Received	425,000	0
Integrated/Segregated:		Planted	410,500	3,220

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	01/2026	LK WHATCOM HATCHERY	425,000		0	EGGS EYED
Shipped	01/2026	01/2026	SPRAGUE SD 008	250		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	97,000	200.0	485	JUVENILE	BILLY CLAPP LK (GRAN)		
05/2026	05/2026	13,500	200.0	68	JUVENILE	DEEP LK (GRAN)		
05/2026	05/2026	100,000	200.0	500	JUVENILE	SPOKANE CO LAKES		
05/2026	05/2026	100,000	200.0	500	JUVENILE	STEVENS CO LAKES		
10/2026	10/2026	100,000	60.0	1,667	JUVENILE	PEND OREILLE CO LAKES		

Memo: Program implementation is dependent on legal authority and funding. May backfill with Palmer Lk Stock from Omak if needed.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025 Deirekow				Total #	Total Pounds
Species: Run:	Rainbow NA			Egg Take		
Stock:	TROUT LODGE			Shipping		
Brood Origin:	HATCHERY			Received		
Integrated/Segregat	ted:			Planted	50,000	10,000
Estimated Brood	Data					
Egg Take Goal						
Estimated Transf	fer Data					
Shipped or Received	Start Date End Date	Facility	Number	FPP	Total Pounds	Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
06/2026	06/2026	50,000	5.0	10,000	JUVENILE	SPOKANE CO LAKES	AD	

Memo: Program implementation is dependent on legal authority and funding. AVISTA mitigation.

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fag Taka		
Run:	NA	Egg Take	6,200,000	
Stock:	SPOKANE HATCHERY	Shipping	3,463,350	5,450
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	855,000	70,451

Estimated Brood Data

Egg Take Goal 6,200,000

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	12/2025	12/2025	BOWDISH JHS (SPOKANE	100		0	EGGS EYED
Shipped	12/2025	12/2025	CHELAN HATCHERY	655,000		0	EGGS EYED
Shipped	12/2025	12/2025	CHELAN PUD HATCHERY	100,000		0	EGGS EYED
Shipped	12/2025	12/2025	COLVILLE HS(COLVILLE	35,000		0	EGGS EYED
Shipped	12/2025	12/2025	EAST VALLEY MS(SPOKA	250		0	EGGS EYED
Shipped	12/2025	12/2025	FORD HATCHERY	1,550,000		0	EGGS EYED
Shipped	12/2025	12/2025	FORT COLVILLE ES	500		0	EGGS EYED
Shipped	12/2025	12/2025	LIBERTY LAUNCH ACADEMY (SPOK)	250		0	EGGS EYED
Shipped	12/2025	12/2025	LINCOLN MS(PULLMAN)	250		0	EGGS EYED
Shipped	12/2025	12/2025	LYONS FERRY HATCHERY	195,000		0	EGGS EYED
Shipped	12/2025	12/2025	MESEBERG HATCHERY	115,000		0	EGGS EYED

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025 Rainbo					Total #	Total Pounds
Species: Run:	NA	w			Egg Take	6,200,000	
Stock:		NE HATCHERY			Shipping	3,463,350	5,450
Brood Origin:	НАТСН				Received		
Integrated/Segrega	-				Planted	855,000	70,451
Shipped	12/2025	12/2025	ORCHARD CENTER ES(SP	150		0	EGGS EYED
Shipped	12/2025	12/2025	ORIENT SD 065(ORIENT	250		0	EGGS EYED
Shipped	12/2025	12/2025	ROCK LAKE CONSERVATION DISTRICT	1,250		0	EGGS EYED
Shipped	12/2025	12/2025	STACEY SELCHO COOP	4,100		0	EGGS EYED
Shipped	12/2025	01/2026	TUCANNON HATCHERY	130,000		0	EGGS EYED
Shipped	01/2026	01/2026	COLUMBIA BASIN HATCHERY	450,000		0	EGGS EYED
Shipped	01/2026	01/2026	OMAK HATCHERY	66,000		0	EGGS EYED
Shipped	01/2026	01/2026	SUMMIT VALLEY SD(ADD	250		0	EGGS EYED
Shipped	05/2026	05/2026	CURLEW LK NET PEN	85,000	50.0	1,700	JUVENILE
Shipped	10/2026	10/2026	DEER LK NET PENS	45,000	20.0	2,250	JUVENILE
Shipped	10/2026	10/2026	WAITTS LK NET PENS	30,000	20.0	1,500	JUVENILE

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Egg Tako	6,200,000	
Run:	NA	Egg Take	6,200,000	
Stock:	SPOKANE HATCHERY	Shipping	3,463,350	5,450
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	855,000	70,451

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	300,000	100.0	3,000	JUVENILE	LINCOLN CO LAKES		
05/2026	05/2026	165,000	100.0	1,650	JUVENILE	SPOKANE CO LAKES		
05/2026	05/2026	100,000	100.0	1,000	JUVENILE	WHITMAN CO LAKES		
10/2026	10/2026	10,000	10.0	1,000	JUVENILE	PEND OREILLE CO LAKES		
10/2026	10/2026	59,000	10.0	5,900	JUVENILE	SPOKANE CO LAKES		
10/2026	10/2026	20,000	10.0	2,000	JUVENILE	WHITMAN CO LAKES		
10/2026	10/2026	20,000	20.0	1,000	JUVENILE	WHITMAN CO LAKES		
10/2026	11/2026	40,000	10.0	4,000	JUVENILE	FERRY CO LAKES		
10/2026	11/2026	66,000	20.0	3,300	JUVENILE	FERRY CO LAKES		
03/2027	04/2027	52,000	2.5	20,800	JUVENILE	SPOKANE CO LAKES		
03/2027	04/2027	17,000	2.5	6,800	JUVENILE	STEVENS CO LAKES		
03/2029	03/2029	1,500	0.3	5,000	BROODSTOCK	LINCOLN CO LAKES		
03/2029	03/2029	500	0.3	1,667	BROODSTOCK	PEND OREILLE CO LAKES		
03/2029	03/2029	2,000	0.3	6,667	BROODSTOCK	SPOKANE CO LAKES		

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year	:	2025						Total #	Total Pounds
Species:		Rainbow					Fag Taka		
Run:		NA					Egg Take	6,200,000	
Stock:		SPOKANE HATCHER	/				Shipping	3,463,350	5,450
Brood Origi	n:	HATCHERY					Received		
Integrated/	Segregated:						Planted	855,000	70,451
03/2029	03/2029	2,000	0.3	6,667	BROODSTOCK S	STEVENS CO LA	KES		

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Tiger Trout	Faa Taka		
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received	65,000	867
Integrated/Segregated:		Planted	56,000	2,800

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2026	06/2026	FORD HATCHERY	65,000	75.0	867	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
10/2026	10/2026	6,000	20.0	300	JUVENILE	PEND OREILLE CO LAKES		
10/2026	10/2026	40,000	20.0	2,000	JUVENILE	SPOKANE CO LAKES		
10/2026	10/2026	10,000	20.0	500	JUVENILE	STEVENS CO LAKES		

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2026		Total #	Total Pounds
Species:	Cutthroat	Fag Taka		
Run:	Westslope	Egg Take	300,000	
Stock:	KING LK (PEND)	Shipping	50,000	0
Brood Origin:	WILD	Received		
Integrated/Segregated:		Planted	197,000	5,250

Estimated Brood Data

Egg Take Goal 300,000

Estimated Transfer Data

Shipped or I	Received	Start Date	End Date	Facility	,		Number FPP	Total Pounds	Life St	age
Shipped		05/2026	05/2026	GOLD	GOLDENDALE HATCHERY		20,000	0	EGGS	EYED
Shipped		05/2026	05/2026	MOSS	YROCK HATCHE	RY	15,000	0	EGGS	EYED
Shipped		05/2026	05/2026	NACH	ES HATCHERY		15,000	0	EGGS	EYED
Estimated Release Data										
Start Date	End Date	Num Re	lease	FPP	Total Pounds	Life Stage	Release Site	Mark	Туре	Tagged
10/2026	10/2026	15	5,000	250.0	60	JUVENILE	FERRY CO LAKES			
10/2026	10/2026	70	,000	250.0	280	JUVENILE	PEND OREILLE CO LAKES			
10/2026	10/2026	15	5,000	250.0	60	JUVENILE	STEVENS CO LAKES			
05/2027	06/2027	62	2,000	20.0	3,100	JUVENILE	SPOKANE CO LAKES			
05/2027	06/2027	35	5,000	20.0	1,750	JUVENILE	STEVENS CO LAKES			

SPOKANE HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2026			Total #	Total Pounds
Species:	Rainbow	F	Talia		
Run:	NA	Egg	Take		
Stock:	TROUT LODGE	Ship	oping		
Brood Origin:	HATCHERY	Rece	eived	60,000	0
Integrated/Segregated	d :	Plan	nted	50,000	10,000

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	06/2026	06/2026	TROUT LODGE COMMERCIAL	60,000		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
06/2027	06/2027	50,000	5.0	10,000	JUVENILE	SPOKANE CO LAKES	AD	

Memo: Program implementation is dependent on legal authority and funding. AVISTA mitigation.

SPOKANE TRIBAL HATCHERY

SPOKANE TRIBE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			Total Total
Run:	NA	Egg Tak	2	
Stock:	TROUT LODGE	Shipping	450,000	30,000
Brood Origin:	HATCHERY	Receive	b	
Integrated/Segregat	ed:	Planted		
Estimated Dread	Dete			

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2025	10/2025	LK ROOSEVELT NP (COL	450,000	15.0	30,000	JUVENILE

Estimated Release Data

							_	_
Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged

Memo:

Friday, May 9, 2025

SPOKANE TRIBAL HATCHERY

SPOKANE TRIBE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	TROUT LODGE	Shipping	450,000	30,000
Brood Origin:	HATCHERY	Received		
Integrated/Segregated:		Planted	40,000	40,000

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2026	10/2026	LK ROOSEVELT NP (COL	450,000	15.0	30,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
06/2026	06/2026	40,000	1.0	40,000	JUVENILE	SPOKANE R 54.0002		

Memo:

Friday, May 9, 2025

SPRAGUE SD 008

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Kokanee	Egg Take		
Run:	NA			
Stock:	LK WHATCOM STOCK	Shipping		
Brood Origin:	HATCHERY	Received	250	0
Integrated/Segregated:	SEGREGATED	Planted	250	1

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	01/2026	SPOKANE HATCHERY	250		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	250	500.0	1	JUVENILE	LK ROOSEVELT (53)		

STACEY SELCHO COOP

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Egg Tako		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	4,300	0
Integrated/Segregated:		Planted	3,550	14

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	SPOKANE HATCHERY	4,300		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	1,450	250.0	6	JUVENILE	BEAR LK (SPOK)		
04/2026	04/2026	75	250.0	0	JUVENILE	CLEAR LK (SPOK)		
04/2026	04/2026	75	250.0	0	JUVENILE	COFFEEPOT LK (LINC)		
04/2026	04/2026	925	250.0	4	JUVENILE	LIBERTY LK (SPOK) (57)		
04/2026	04/2026	1,025	250.0	4	JUVENILE	MEDICAL LK (SPOK)		

Memo: Program implementation is dependent on legal authority and funding. Releases grouped by site.

SUMMIT VALLEY SD(ADD

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Fee Taka		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	250	0
Integrated/Segregated:	SEGREGATED	Planted	250	1

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2026	01/2026	SPOKANE HATCHERY	250		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	250	500.0	1	JUVENILE	ROCKY LK (STEV)		

TRI STATE STEELHEADER

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Chinook	Fee Taba		
Run:	Spring	Egg Take		
Stock:	WIND R 29.0023	Shipping		
Brood Origin:	HATCHERY	Received	4,200	0
Integrated/Segregated:	SEGREGATED	Planted	4,200	94

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	10/2025	LYONS FERRY HATCHERY	4,200		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	600	45.0	13	JUVENILE	GARRISON CR 32.1448		
04/2026	04/2026	2,100	45.0	47	JUVENILE	MILL CR 32.1436		
04/2026	04/2026	1,200	45.0	27	JUVENILE	TOUCHET R 32.0097		
04/2026	04/2026	300	45.0	7	JUVENILE	YELLOWHAWK CR32.1449		

TUCANNON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook			
Run:	Spring	Egg Take		
Stock:	TUCANNON R 35.0009	Shipping		
Brood Origin:	MIXED	Received	226,000	9,040
Integrated/Segregated:	INTEGRATED	Planted	225,000	18,750

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	11/2025	LYONS FERRY HATCHERY	226,000	25.0	9,040	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	45,000	12.0	3,750	JUVENILE	TUCANNON R 35.0009	РТ	
04/2026	04/2026	180,000	12.0	15,000	JUVENILE	TUCANNON R 35.0009		\checkmark

TUCANNON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Estimated Transfer		Facility	Number	FPP	Total Pounds	Life Stage
Estimated Brood Egg Take Goal	Data					
Integrated/Segregat	ed:			Planted	93,358	37,343
Brood Origin:	HATCHERY			Received		
Stock:	SPOKANE HATCHERY			Shipping		
Run:	NA			Egg Take		
Species:	Rainbow				Total #	Total Pound
Brood Year:	2024				Total #	Total David

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	06/2026	20,400	2.5	8,160	JUVENILE	ASOTIN CO LAKES		
04/2026	06/2026	40,460	2.5	16,184	JUVENILE	COLUMBIA CO LAKES		
04/2026	06/2026	6,800	2.5	2,720	JUVENILE	FRANKLIN CO LAKES		
04/2026	06/2026	19,380	2.5	7,752	JUVENILE	WALLA WALLA CO LAKES		
04/2026	06/2026	6,318	2.5	2,527	JUVENILE	WHITMAN CO LAKES		

TUCANNON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Chinook			
Run:	Spring	Egg Take		
Stock:	TUCANNON R 35.0009	Shipping		
Brood Origin:	MIXED	Received	226,000	15,067
Integrated/Segregated:	INTEGRATED	Planted	225,000	18,750

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2026	11/2026	LYONS FERRY HATCHERY	226,000	15.0	15,067	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	180,000	12.0	15,000	JUVENILE	TUCANNON R 35.0009		
04/2027	04/2027	45,000	12.0	3,750	JUVENILE	TUCANNON R 35.0009	PT	\checkmark

TUCANNON HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	Faa Taka		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping	1,850	0
Brood Origin:	HATCHERY	Received	130,000	0
Integrated/Segregated:		Planted	93,358	37,343

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or l	Received	Start Date	End Date	Facility	1		Number FPP	Total Pounds	Life St	age
Received		12/2025	01/2026	SPOK	ANE HATCHERY		130,000	0	EGGS	EYED
Shipped		01/2026	01/2026	ASOT	IN CONSERVATIO	ON DIST	1,600	0	EGGS	EYED
Shipped		01/2026	01/2026	LEON	ARD M JENNING	S E	250	0	EGGS	EYED
Estimated	Release	Data								
Start Date	End Date	e Num Re	lease	FPP	Total Pounds	Life Stage	Release Site	Mark	Туре	Tagged
04/2027	06/2027	20),400	2.5	8,160	JUVENILE	ASOTIN CO LAKES			
04/2027	06/2027	4(),460	2.5	16,184	JUVENILE	COLUMBIA CO LAKES			
04/2027	06/2027	(5,800	2.5	2,720	JUVENILE	FRANKLIN CO LAKES			
04/2027	06/2027	19	9,380	2.5	7,752	JUVENILE	WALLA WALLA CO LAKES			
04/2027	06/2027	(5,318	2.5	2,527	JUVENILE	WHITMAN CO LAKES			

UPPER COLUMBIA UNITED TRIBES (SPOK)

INTERAGENCY PROJECTS

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Chinook	I		
Run:	Summer	Egg Take		
Stock:	WELLS HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	165,000	5,500
Integrated/Segregated:	SEGREGATED	Planted	165,000	11,001

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2025	11/2025	WELLS HATCHERY	165,000	30.0	5,500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	05/2026	55,000	15.0	3,667	JUVENILE	ROOSEVELT LK@2 RIVERS NP	РТ	\checkmark
04/2026	05/2026	55,000	15.0	3,667	JUVENILE	ROOSEVELT LK@KETTLE FALLS	PT	
04/2026	05/2026	55,000	15.0	3,667	JUVENILE	RUFUS WOODS LK (DOUG)	PT	\checkmark

Memo: Fish released from net pens. 100% pit tagged.

UPPER COLUMBIA UNITED TRIBES (SPOK)

INTERAGENCY PROJECTS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Chinook			
Run:	Summer	Egg Take		
Stock:	WELLS HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	165,000	5,500
Integrated/Segregated:	SEGREGATED	Planted	165,000	11,001

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2026	11/2026	WELLS HATCHERY	165,000	30.0	5,500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	05/2027	55,000	15.0	3,667	JUVENILE	ROOSEVELT LK@2 RIVERS NP	РТ	\checkmark
04/2027	05/2027	55,000	15.0	3,667	JUVENILE	ROOSEVELT LK@KETTLE FALLS	PT	\checkmark
04/2027	05/2027	55,000	15.0	3,667	JUVENILE	RUFUS WOODS LK (DOUG)	РТ	\checkmark

Memo: Fish released from net pens. 100% pit tagged.

WAITTS LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Brown Trout			
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received	24,500	1,225
Integrated/Segregated:		Planted	24,000	4,800

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	10/2025	SPOKANE HATCHERY	24,500	20.0	1,225	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	24,000	5.0	4,800	JUVENILE	WAITTS LK (STEV)		

WAITTS LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year:	2024		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	30,000	1,500
Integrated/Segregated:		Planted	29,500	5,900

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2025	10/2025	SPOKANE HATCHERY	30,000	20.0	1,500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	29,500	5.0	5,900	JUVENILE	WAITTS LK (STEV)		

WAITTS LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Brown Trout			
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received	24,500	1,225
Integrated/Segregated:		Planted	24,000	4,800

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2026	10/2026	SPOKANE HATCHERY	24,500	20.0	1,225	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	24,000	5.0	4,800	JUVENILE	WAITTS LK (STEV)		

WAITTS LK NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow			
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	30,000	1,500
Integrated/Segregated:		Planted	29,500	5,900

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2026	10/2026	SPOKANE HATCHERY	30,000	20.0	1,500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2027	04/2027	29,500	5.0	5,900	JUVENILE	WAITTS LK (STEV)		

WEST VALLEY HS(SPOKA

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Eastern Brook Trout	Fee Table		
Run:	NA	Egg Take		
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received	500	0
Integrated/Segregated:		Planted	475	6

Estimated Brood Data

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	FORD HATCHERY	500		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
06/2026	06/2026	475	75.0	6	JUVENILE	NEWMAN LK (SPOK)		

WEST VALLEY HS(SPOKA

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Tiger Trout	Egg Take		
Run:	NA			
Stock:	FORD STOCK	Shipping		
Brood Origin:	HATCHERY	Received	500	0
Integrated/Segregat	ed:	Planted	475	5
Estimated Brood	Data		1	1

Egg Take Goal

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2025	11/2025	FORD HATCHERY	500		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
05/2026	05/2026	475	100.0	5	JUVENILE	FISH LK (SPOK)		

WILBUR SD 200(WILBUR

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS

EASTERN WASHINGTON

Brood Year:	2025		Total #	Total Pounds
Species:	Rainbow	F T-l		
Run:	NA	Egg Take		
Stock:	SPOKANE HATCHERY	Shipping		
Brood Origin:	HATCHERY	Received	200	0
Integrated/Segregat	ed:	Planted	200	1
Estimated Brood	Data			I
Faa Talaa Caal				

```
Egg Take Goal
```

Estimated Transfer Data

Shipped or Received	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2025	12/2025	FORD HATCHERY	200		0	EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pounds	Life Stage	Release Site	Mark Type	Tagged
04/2026	04/2026	200	250.0	1	JUVENILE	ROOSEVELT LK (OKAN)	AD	

Memo: Program implementation is dependent on legal authority and funding. Fish will be AD clipped by the Spokane Tribe prior to release.